I 39 W‘f@

FECUE T .8

ISIETLT 3T 57,

TET3TETLT 92T +7.3

TET3TETLT JT H.Y

FST3TEALT JET .9

TETHEIET 2T .5

TET3TEAET g1 A

FSTHEILT 3T A.¢

TETITETET 3T 7.9

FETHETE BT .20

FETHECIET g #.9¢

TETIETLT TaT A.9%

TBTIETET FaT .93

FETHETET a7 o.9%

FTAATART GETT

FrIUfoET e

FTATRT YT

FrRIUTfRT TaET

FRTIRT &g

FrAaIfET ey

FRITfoRT T

FrTforesT gaw

A ic) &

TeET gRg




Ty Sos e

?x\x-—tmw‘oﬂm \c—nnm ‘%T W g\@
:»:gf;é\«\@x &mmm JRHAZA T4 %‘wgm ‘Tﬁza}x H\\a%\sg;m
A;fi\a »wﬂ@% ATOeS AU T v T T

= &7 J\g\é}‘ \ e \&‘;‘ d\\r %,»my\v—m] @\U\L}*u

1
T &Q@q @% “; %m%&r

*:5t3ﬁ §\

6{—2\24\431\1\0? (C\j,‘ ﬂra\i@oﬂ V\"VY S“Z[“y
et R ﬁ*%ﬂﬁ{?‘@ A Gy o %M‘Qr
= wé%&w T LT 5‘5”

}4?45)%/\\05\ ‘Q\@"

St s Z=@ awm*% REXAS) Q2
3 1?342%“7{’??0\}6%%;)@5\7%%1 W



